Association between childhood and adult attention deficit hyperactivity disorder symptoms in Korean young adults with Internet addiction

DONGILL KIM^{1,2}, DEOKJONG LEE^{1,2}, JUNGHAN LEE^{1,2}, KEE NAMKOONG^{1,2} and YOUNG-CHUL JUNG^{1,2}*

¹Department of Psychiatry, Yonsei University College of Medicine, Seoul, South Korea ²Institute of Behavioral Science in Medicine, Yonsei University College of Medicine, Seoul, South Korea

(Received: February 5, 2017; revised manuscript received: May 29, 2017; accepted: July 17, 2017)

Background and aims: Attention deficit hyperactivity disorder (ADHD) is one of the most common psychiatric comorbidities of Internet addiction (IA); however, the possible mechanisms that contribute to this high comorbidity are still under debate. This study aims to analyze these possible mechanisms by comparing the effect of IA severity and childhood ADHD on inattention, hyperactivity, and impulsivity in young adults with IA. We hypothesized that IA might have associations with ADHD-like cognitive and behavior symptoms aside from childhood ADHD. *Methods:* Study participants consisted of 61 young male adults. Participants were administered a structured interview. The severity of IA, childhood and current ADHD symptoms, and psychiatry comorbid symptoms were assessed through self-rating scales. The associations between the severity of IA and ADHD symptoms were examined through hierarchical regression analyses. *Results:* Hierarchical regression analyses showed that the severity of IA significantly predicted most dimensions of ADHD symptoms. By contrast, childhood ADHD predicted only one dimension. *Discussion:* The high comorbidity of inattention and hyperactivity symptoms in IA should not solely be accounted by an independent ADHD disorder but should consider the possibility of cognitive symptoms related to IA. Functional and structural brain abnormalities associated with excessive and pathologic Internet usage might be related to these ADHD-like symptoms. *Conclusion:* Inattention and hyperactivity in young adults with IA are more significantly associated with the severity of IA than that of childhood ADHD.

Keywords: Internet addiction, attention deficit hyperactivity disorder, inattention, hyperactivity, impulsivity

INTRODUCTION

As the Internet accessibility and users increase, Internet addiction (IA) has become a prime concern in many areas and societies. Even though the publication of the Diagnostic and Statistical Manual of Mental Disorder, Fifth Edition (DSM-5) in 2013 has caused more confusion on defining IA after the adoption of Internet gaming disorder (Kuss, Griffiths, & Pontes, 2017), according to Young (1998b, 1999; Young & Rogers, 1998), IA can be defined as the excessive, obsessive-compulsive, uncontrollable, tolerancecausing use of the Internet, which also causes significant distress and impairments in daily functioning. In addition to IA itself, high psychiatric comorbidity and conditions among people with IA have attracted much attention. Ho et al. (2014) reported that IA is significantly associated with attention deficit hyperactivity disorder (ADHD), depression, and anxiety. Particularly, Carli et al. (2013) demonstrated strongest correlation between ADHD and pathological Internet use on their systematic review, and Ho et al. (2014) concluded that the prevalence of ADHD among IA patients was 21.7%. Notwithstanding this high comorbidity, and this may indicate the causal relationship or common etiology shared by them (Mueser, Drake, & Wallach, 1998), the possible mechanisms that contribute to this high comorbidity are still under debate.

ADHD is one of the most common psychiatric disorders which occurs in about 5.3% of youth including children and adolescents, and about 4.4% of adults (Kessler et al., 2006; Polanczyk, de Lima, Horta, Biederman, & Rohde, 2007). ADHD is characterized by cognitive and behavioral symptoms of inattention, hyperactivity, and impulsivity, which are associated with IA (Yen, Ko, Yen, Wu, & Yang, 2007; Yen, Yen, Chen, Tang, & Ko, 2009; Yoo et al., 2004). In addition to IA, a considerable amount of patients with ADHD are also present with one or more comorbid psychiatric conditions including mood, anxiety, and substance use, which complicate the diagnostic picture of ADHD especially for adult. (Gillberg et al., 2004; Sobanski, 2006). According to the DSM-5, ADHD is a childhood onset neurodevelopmental disorder, prior to age of 12, thus the adult ADHD represents a continuation of the childhood condition. However, Moffitt et al. (2015) presented new data challenging the assumption that the adult ADHD is a continuation of the childhood onset ADHD, and this finding suggested another possibility that two distinct childhood onset and adulthood onset ADHD might exist. Hypothesis

^{*} Corresponding author: Young-Chul Jung, MD, PhD; Department of Psychiatry, Yonsei University College of Medicine, 50-1 Yonsei-ro, Seodaemun-gu, Seoul 03722, South Korea; Phone/ Fax: +82 2 2228 1620; E-mail: eugenejung@yuhs.ac

This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium for non-commercial purposes, provided the original author and source are credited.

supporting the existence of distinct adulthood onset ADHD suggests that poor maturation of cortical control during the adolescent might lead the ADHD-like symptoms in adulthood (Castellanos, 2015; Moffitt et al., 2015) and considering IA is associated with changes in function and structure of the brain (Hong et al., 2013a, 2013b; Kuss & Griffiths, 2012; Weng et al., 2013; Yuan et al., 2011; Zhou et al., 2011), this may explain the high comorbidity between IA and ADHD.

In this study, we compared the two investigated possibilities that can explain high comorbidity between IA and ADHD. First, individuals with childhood ADHD are more vulnerable to develop IA and their childhood ADHD symptoms persist until adulthood. Second, IA might be associated with adult ADHD-like cognitive symptoms aside from childhood ADHD and other psychiatric conditions. The objective of this study was to validate these two possibilities; therefore, we compared the effect of IA severity and childhood ADHD symptoms on adult ADHD symptoms in young adults with IA. We hypothesized that the level of IA would be positively associated with the severity of adult ADHD symptoms even after controlling the childhood ADHD and other psychiatric conditions.

METHODS

Participants and procedure

Participants were 61 men of age from 20 to 29 years old (mean age: 23.61 ± 2.34 years old), recruited from online advertising. Participants were asked whether they had psychiatric medication on a regular basis, whether they had medical, neurological disorders that might affect the experiment, and whether they had experienced previous head trauma or seizures. Participants were administered Structured Clinical Interview for the DSM, Fourth Edition and Korean Wechsler Adult Intelligence Scale, Fourth Edition by a clinical research psychologist to exclude those who met criteria for a lifetime Axis I psychiatric diagnosis and intellectual disabilities, except childhood and adult ADHD. Through this process, participants with current or past psychiatric disorders, traumatic brain injury, medical, and neurological illness were excluded.

Psychometric self-reports were used to assess the participants' behavioral and personality features, including the Korean Adolescent Internet Addiction Scale (K-AIAS), Beck Depression Inventory (BDI), Beck Anxiety Inventory (BAI), Barratt Impulsiveness Scale-11 (BIS-11), and Korean version of Alcohol Use Disorders Identification Test (AUDIT-K). We evaluated the severity of childhood and adult ADHD symptoms through Korean Short version of Wender Utah ADHD Rating Scale (WURS-KS) and Korean Short version of Conners' Adult ADHD Rating Scale (CAARS-KS).

Measures

Internet addiction severity. We used the K-AIAS to evaluate the severity of IA symptoms. The K-AIAS is a Korean translation of the Young's Internet Addiction Test (YIAT), except for a few words to fit the situation of high-school students. The structure and components of the K-AIAS and YIAT are identical, 6-level Likert scale to 20 questions. A total score of 20–49 points represents the average Internet user, and a score of 50–79 points represents users who are often experiencing problems with the Internet usage. A score of 80–100 points indicates that the participants are experiencing significant difficulties in the life due to the use of the Internet. The K-AIAS has satisfactory reliability and validity and the Cronbach's α was .91 (Kim, Lee, & Oh, 2003; Young, 1998a).

Depression and anxiety. Depressive and anxiety symptoms were evaluated using the BDI (Korean version) and BAI (Korean version), respectively. BDI and BAI are composed of 21 items, and the patients rate each symptom on a 4-point Likert scale in an increasing severity. In BDI, following severity levels are suggested: scores between 0 and 13 indicate minimal, between 14 and 19 mild, between 20 and 28 moderate, and between 29 and 63 severe depression. In BAI, following severity levels are suggested: scores between 0 and 7 indicate no anxiety, between 8 and 15 mild, between 16 and 25 moderate, and between 26 and 63 severe anxiety. Both scales have been validated on Korean populations. The Cronbach's α was ranged from .78 to .85 for BDI and .91 for BAI (Beck & Steer, 1990; Beck, Steer, & Brown, 1996; Beck, Ward, Mendelson, Mock, & Erbaugh, 1961; Lee & Song, 1991; Yook & Kim, 1997).

Impulsivity. Impulsiveness symptom was evaluated using the Korean version of the BIS-11. The BIS-11 is one of the most often used tools to assess impulsivity. The original BIS-11 is composed of 30 items scored on a 4-point Likert scale and a level of impulsivity is measured by summing up the scores for each item. The higher score means more severe impulsiveness. It assesses the three main dimensions of impulsive behavior: attentional impulsiveness (a lack of focus on the ongoing task), motor impulsiveness (acting without thinking), and non-planning impulsiveness (items, orientation to the present rather than to the future). The Korean version of the BIS-11 consists of 23 items, so the number of items that measure each dimension is different, but the rest is the same. Heo et al. proved the reliability and validity of Korean version of BIS-11 in their study, and the Cronbach's α of the scale was .686 (Heo, Oh, & Kim, 2012; Patton, Stanford, & Barratt, 1995).

Alcohol use and related symptoms. We used the AUDIT-K to assess the participants' severity of alcohol use and related symptoms. AUDIT-K consists of 10 items; each question is scored from 0 to 4. Questions 1–3 evaluate participants' alcohol consumption, questions 4–6 examine abnormal drinking behavior, questions 7 and 8 assess adverse psychological reactions, and questions 9 and 10 evaluate alcohol-related problems. In the study with college students, Fleming et al. suggested the cut-off value of 8. Lee et al. proved the reliability and validity of AUDIT-K in their study and the Cronbach's α of the scale was .92 (Babor, De La Fuente, Saunders, & Grant, 1992; Fleming, Barry, & MacDonald, 1991; Lee, Lee, Lee, Choi, & Namkoong, 2000).

Childhood ADHD symptoms. We used a short version of WURS-KS, which was translated into Korean by Koo et al. to assess the childhood ADHD symptoms.

The WURS is a self-report questionnaire for the retrospective assessment of childhood ADHD symptoms in adults for ADHD. The original WURS was composed of 61 items, but in this study, the short version consisting of 25 items was used. The original version of WURS correctly identified 86% of patients with ADHD, and the short version of it also demonstrated high sensitivity and specificity to provide the diagnosis of childhood ADHD when 36 points were applied as cut-off value. The validity and reliability analysis of Korean short version of WURS was performed with normal female Korean adults and demonstrated satisfactory reliability and validity. The Cronbach's α was .93 (Koo et al., 2009; Ward, Wender, & Reimherr, 1993).

Adult ADHD symptoms. CAARS-KS was used to evaluate the adult ADHD symptoms in this study. The CAARS is one of the most widely used self-report questionnaire scales assessing adult ADHD symptoms, and we used its Korean short version, consisting of 20 items and four subscales: inattention–memory problems (IM), hyperactivity– restlessness (HR), impulsivity/emotional lability (IE), problems with self-concept (SC). It is known that T scores above 65 are clinically significant for each subscale. The reliability and validity of the CAARS-KS were established and the Cronbach's α was .92 (Chang, 2008; Conners, Erhardt, & Sparrow, 1999; Erhardt, Epstein, Conners, Parker, & Sitarenios, 1999).

Statistical analysis

Data analysis was performed using SPSS 21.0 statistical software (SPSS Inc., Chicago, IL, USA). First, to examine the correlations between IA, childhood ADHD symptoms, adult ADHD symptoms, depression, anxiety, impulsiveness, alcohol use, and related symptoms, we used the Pearson's correlations. Later, hierarchical multiple regression analysis was used to examine the individual association between the severity of IAs and the severity of adult ADHD symptoms. In every regression model, the effect of other psychiatric conditions including childhood ADHD symptoms was controlled. A two-tailed *p* value of less than .05 was considered statistically significant.

Ethics

This study was carried out under the guidelines for the use of human participants established by the Institutional Review Board at Yonsei University. The Institutional Review Board of the Yonsei University approved the study. Following a complete description of the scope of the study to all participants, written informed consent was obtained.

RESULTS

Participants in this study were all males and their demographic and clinical characteristics are indicated in Table 1. The average K-AIAS score of the participants was 51.16 (SD = 20.263) points. In this study, there were 35 participants (57%) who exceeded 50 points, which is a criterion for mild Internet addiction. According to the structural

Table 1. Demographic and clinical characteristics of study sample (N=61)

Age, median	23.61 ± 2.340
Verbal IQ	102.62 ± 12.636
Performance IQ	102.62 ± 17.431
K-AIAS	51.16 ± 20.263
WURS-KS	35.97 ± 21.182
AUDIT-K	10.39 ± 7.142
BDI	12.34 ± 7.780
BAI	10.74 ± 8.858
BIS-11	58.95 ± 10.681
Cognitive impulsiveness	17.10 ± 3.064
Motor impulsiveness	18.44 ± 5.166
Non-planning impulsiveness	23.36 ± 4.390
CAARS-KS	
Inattention/memory problems	53.15 ± 7.916
Hyperactivity/restless	51.03 ± 6.950
Impulsivity/emotional lability	53.02 ± 7.544
Problems with self-concept	69.43 ± 11.869

Note. Verbal intelligence quotient (IQ) and performance IQ were assessed with Korean Wechsler Adult Intelligence Scale, Fourth Edition (K-WAIS-IV). K-AIAS: Korean Adolescent Internet Addiction Scale; WURS-KS: Korean Short version of Wender Utah Rating Scale; AUDIT-K: Korean version of Alcohol Use Disorder Identification Test; BDI: Beck Depression Inventory; BAI: Beck Anxiety Inventory; BIS-11: Barratt Impulsiveness Scale-11; CAARS-KS: Korean Short version of Conner's Adult ADHD Rating Scale.

interview and CAARS-KS, only two participants (3%) met the clinical criteria of adult ADHD.

The results of correlation analysis are shown in Table 2. According to the results, all subscale scores of the adult ADHD symptoms showed significant correlations with IA, childhood ADHD, AUDIT-K scores, depression, and anxiety symptoms. On the other hands, impulsiveness symptom on BIS-11 did not significantly correlate with adult ADHD symptom dimensions, except SC dimension. As most of the psychiatric conditions showed significant correlations with adult ADHD symptoms, we used hierarchical multiple regression analysis to examine the individual associations between IA and each adult ADHD symptom dimension in three regression models.

The results of multiple regression analysis are shown in Table 3. Every adult ADHD symptom dimension measured by CAARS-KS is analyzed respectively. In Table 3, IM dimension is indicated. The results of model 1 (F = 11.485, p < .001) revealed that more severe depression symptom on the BDI was significantly associated with more severe IM symptom. Childhood ADHD symptom on the WURS-KS was then added to model 2 (F = 10.400, p < .001) and revealed that childhood ADHD symptom was not significantly associated the severity of IM. In model 3 (F = 10.858, p < .001), IA severity on the K-AIAS was added and the results showed that the more severe IA was associated with the more severe IM.

The result of HR dimension analysis is demonstrated in Table 3. In model 1 (F = 14.867, p < .001), more severe anxiety and alcohol-related symptoms on the BAI and AUDIT-K were significantly associated with more severe HR symptom. In model 2 (F = 12.784, p < .001), childhood

	2	3	4	5	9	7	8	6	10	11	12	13
AS	0.485**	0.268^{*}	0.518^{**}	0.477 **	0.334^{**}	0.108	0.305*	0.361**	0.585**	0.579^{**}	0.601^{**}	0.568**
S-KS	I	0.312^{*}	0.456^{**}	0.648^{**}	0.388^{**}	0.110	0.446^{**}	0.328^{**}	0.507^{**}	0.550^{**}	0.572^{**}	0.500^{**}
IT-K		I	0.262^{*}	0.392^{**}	0.182	-0.085	0.199	0.261^{*}	0.314*	0.520^{**}	0.412**	0.298*
			I	0.712^{**}	0.203	0.051	0.259*	0.133	0.634^{**}	0.498^{**}	0.531^{**}	0.699**
				Ι	0.209	-0.029	0.376^{**}	0.079	0.586^{**}	0.657^{**}	0.630^{**}	0.579^{**}
11					I	0.789^{**}	0.872^{**}	0.845^{**}	0.117	0.169	0.177	0.267*
Cog						I	0.546^{**}	0.570^{**}	-0.012	-0.040	0.000	0.107
Motor							Ι	0.555**	0.142	0.209	0.182	0.257*
Von								I	0.115	0.191	0.212	0.257*
γ									I	0.668^{**}	0.718^{**}	0.697^{**}
Ч										I	0.741^{**}	0.599^{**}
(*)											I	0.589^{**}
C)												Ι

BDI: Beck Depression Inventory; BAI: Beck Anxiety Inventory; BIS-11: Barratt Impulsiveness Scale-11; BIS-Cog: Barratt Impulsiveness Scale - cognitive impulsiveness; BIS-Motor: Barratt Vote: K-AIAS: Korean Adolescent Internet Addiction Scale; WURS-KS: Korean Short version of Wender Utah Rating Scale; AUDIT-K: Korean version of Alcohol Use Disorder Identification Test; Impulsiveness Scale - motor impulsiveness; BIS-Non: Barratt Impulsiveness Scale - non-planning impulsiveness; CAARS-KS: Korean Short version of Conner's Adult ADHD Rating Scale; C-IM: Conner's Adult ADHD Rating Scale - inattention/memory problems; C-HR: Conner's Adult ADHD Rating Scale - hyperactivity/restless; C-IE: Conner's Adult ADHD Rating Scale - impulsivity. emotional lability; C-SC: Conner's Adult ADHD Rating Scale - problems with self-concept $**_p < .01$ p < .05.

ADHD symptom on the WURS-KS was added and showed no significant association with HR symptom dimension of adult ADHD symptoms. IA symptom on the K-AIAS was then added in model 3 (F = 13.708, p < .001), and the results showed that the more severe IA was significantly associated with the more severe HR.

The result of IE dimension is demonstrated in Table 3. The results of model 1 (F = 11.194, p < .001) indicated that more severe anxiety symptom on BAI was significantly associated with more severe IE symptom. Childhood ADHD symptom on the WURS-KS was then added to model 2 (F = 10.473, p < .001) and indicated that more severe childhood ADHD symptom was associated with more severe IE. In model 3 (F = 11.528, p < .001), IA severity on the K-AIAS was added, and demonstrated significant association between IA and IE.

The result of SC dimension is shown in Table 3. In model 1 (F = 15.259, p < .001), depression symptom on the BDI showed a significant association with SC symptom. In model 2 (F = 12.870, p < .001) and model 3 (F = 11.846, p < .001), childhood ADHD symptom and IA severity on WURS-KS and K-AIAS were added, respectively, but showed no significant association with the SC.

DISCUSSION

In this study, most of participants, 35 participants (57%), were classified to have IA when applying the Young's criteria defining score 50 as mild IA (Hardie & Tee, 2007; Young, 1998b). Also, the average score of K-AIAS was high (mean score = 51.2, SD = 20.3), in comparison with the other psychiatric conditions like BDI, BAI, BIS-11, AUDIT-K, and WURS-KS.

Consistent with the previous studies (Dalbudak & Evren, 2014; Yen et al., 2009, 2017; Yoo et al., 2004), we found significant associations between the severity of IA and the severity of ADHD symptoms. Similarly, other psychiatric comorbid conditions like depression, anxiety, and alcohol-related symptoms also showed significant correlations with the adult ADHD symptoms in line with the previous studies (Fischer et al., 2007; Kessler et al., 2006; Ni & Gau, 2015; Sobanski et al., 2007).

The main finding of this study, which is also consistent with our hypothesis, was that the severity of IA was significantly associated with the level of most dimensions of adult ADHD symptoms even after controlling the childhood ADHD symptom and other psychiatric comorbid conditions. Only SC dimension, which presenting low self-regard and deficit in self-confidence, did not show the significant association with IA severity. This result can be explained by several studies by Chang (2008) and Kim, Lee, Cho, Lee, and Kim (2005), which indicated SC symptom dimension in CAARS-KS as an additional scale evaluating secondary problems caused by core symptoms of ADHD like hyperactivity, inattention, and impulsivity. In this study, only severity of depression symptom significantly predicted the level of SC symptom dimension. Considering these findings, it might be concluded that the severity of IA significantly predicted all core symptom dimensions of adult ADHD.

Internet addiction and ADHD

		Unstandar	dized coefficients	Standardized coefficient		
		В	Standard error	β	t	р
Inattention/	memory proble	ems				
Model 1 ^a	BDI	0.456	0.144	.448	3.166	.003**
	BAI	0.207	0.132	.232	1.563	.124
	AUDIT-K	0.126	0.120	.114	1.051	.298
	BIS-11	-0.032	0.076	043	-0.424	.673
Model 2 ^b	BDI	0.466	0.141	.458	3.313	.002**
	BAI	0.065	0.149	.073	0.437	.664
	AUDIT-K	0.115	0.117	.104	0.982	.330
	BIS-11	-0.083	0.078	112	-1.060	.294
	WURS-KS	0.098	0.050	.263	1.944	.057
Model 3 ^c	BDI	0.355	0.140	.349	2.545	.014*
	BAI	0.060	0.141	.067	0.425	.672
	AUDIT-K	0.092	0.112	.083	0.821	.415
	BIS-11	-0.119	0.076	161	-1.579	.120
	WURS-KS	0.071	0.049	.191	1.457	.151
	YIAT	0.122	0.045	.311	2.691	.009**
Hyperactiv	ity/restless					
Model 1 ^u	BDI	0.065	0.119	.072	0.543	.589
	BAI	0.380	0.109	.484	3.474	.001**
	AUDIT-K	0.303	0.099	.312	3.060	.003**
	BIS-11	-0.002	0.063	003	-0.033	.974
Model 2 ^e	BDI	0.072	0.117	.080	0.612	.543
	BAI	0.280	0.124	.357	2.265	.027*
	AUDIT-K	0.296	0.098	.304	3.023	.004**
	BIS-11	-0.038	0.065	058	-0.579	.565
£	WURS-KS	0.069	0.042	.210	1.635	.108
Model 3 ¹	BDI	-0.030	0.115	033	-0.261	.795
	BAI	0.275	0.116	.351	2.384	.021*
	AUDIT-K	0.274	0.092	.281	2.989	.004**
	BIS-11	-0.071	0.062	109	-1.143	.258
	WURS-KS	0.044	0.040	.134	1.098	.277
	YIAT	0.111	0.037	.325	3.003	.004**
Impulsivity	emotional labi	ility				
Model 1 ^g	BDI	0.166	0.138	.171	1.201	.235
	BAI	0.365	0.127	.428	2.872	.006**
	AUDIT-K	0.207	0.115	.196	1.797	.078
	BIS-11	0.012	0.073	.017	0.169	.866
Model 2 ⁿ	BDI	0.177	0.134	.182	1.319	.193
	BAI	0.215	0.141	.252	1.519	.134
	AUDIT-K	0.195	0.112	.185	1.749	.086
	BIS-11	-0.042	0.075	059	-0.558	.579
	WURS-KS	0.104	0.048	.291	2.159	.035*
Model 3 ¹	BDI	0.060	0.131	.062	0.459	.648
	BAI	0.209	0.132	.246	1.586	.118
	AUDIT-K	0.170	0.105	.161	1.630	.109
	BIS-11	-0.080	0.071	113	-1.124	.266
	WURS-KS	0.075	0.046	.212	1.645	.106
	YIAT	0.128	0.042	.343	3.016	.004**
Problems v	vith self-concep	pt				
Model 1 ^J	BDI	0.873	0.202	.572	4.330	<.001**
	BAI	0.156	0.185	.116	0.841	.404
	AUDIT-K	0.136	0.168	.082	0.810	.421
	BIS-11	0.124	0.106	.112	1.172	0.246
Model 2 ^k	BDI	0.884	0.200	.579	4.424	<.001**
	BAI	0.005	0.211	.004	0.025	.980
	AUDIT-K	0.125	0.167	.075	0.748	.458

Table 3. Hierarchical linear regression model when difference scores of Conner's Adult ADHD Rating Scale were taken as dependent variables

(Continued)

		Unstandar	dized coefficients	Standardized coefficient		
		В	Standard error	β	t	р
	BIS-11	0.070	0.111	.063	0.629	.532
	WURS-KS	0.104	0.072	.186	1.452	.152
Model 3 ¹	BDI	0.768	0.204	.504	3.763	<.001**
	BAI	< 0.001	0.206	.000	0.000	.999
	AUDIT-K	0.100	0.163	.060	0.613	.543
	BIS-11	0.033	0.111	.029	0.295	.769
	WURS-KS	0.076	0.072	.136	1.064	.292
	YIAT	0.126	0.066	.215	1.907	.062

Table 3. (Continued)

Note. BDI: Beck Depression Inventory; BAI: Beck Anxiety Inventory; BIS-11: Barratt Impulsiveness Scale-11; AUDIT-K: Korean version of Alcohol Use Disorder Identification Test; WURS-KS: Korean Short version of Wender Utah Rating Scale; YIAT: Korean version of Young's Internet Addiction Test.

^aVariables entered in the first step: BDI, BAI, AUDIT-K, BIS-11; F = 11.485; df = 4, 56; p < .001; adjusted $R^2 = 0.411$.

^bVariables entered in the second step: WURS-KS; F = 10.400; df = 5, 55; p < .001; adjusted $R^2 = 0.439$; R^2 change = 0.035.

°Variables entered in the third step: YIAT; F = 10.858; df = 6, 54; p < .001; adjusted $R^2 = 0.496$; R^2 change = 0.061.

^dVariables entered in the first step: BDI, BAI, AUDIT-K, BIS-11; F = 14.867; df = 4, 56; p < .001; adjusted $R^2 = 0.480$.

^eVariables entered in the second step: WURS-KS; F = 12.784; df = 5, 55; p < .001; adjusted $R^2 = 0.495$; R^2 change = 0.022.

^fVariables entered in the third step: YIAT; F = 13.708; df = 6, 54; p < .001; adjusted $R^2 = 0.560$; R^2 change = 0.066.

^gVariables entered in the first step: BDI, BAI, AUDIT-K, BIS-11; F = 11.194; df = 4, 56; p < .001; adjusted $R^2 = 0.405$. ^hVariables entered in the second step: WURS-KS; F = 10.473; df = 5, 55; p < .001; adjusted $R^2 = 0.441$;

 R^2 change = 0.043.

ⁱVariables entered in the third step: YIAT; F = 11.528; df = 6, 54; p < .001; adjusted $R^2 = 0.513$; R^2 change = 0.074.

^jVariables entered in the first step: BDI, BAI, AUDIT-KS, BIS-11; F = 15.259; df = 4, 56; p < .001; adjusted $R^2 = 0.487$.

^kVariables entered in the second step: WURS-KS; F = 12.870; df = 5, 55; p < .001; adjusted $R^2 = 0.497$; R^2 change = 0.018.

¹Variables entered in the third step: YIAT; F = 11.846; df = 6, 54; p < .001; adjusted $R^2 = 0.520$; R^2 change = 0.029. *p < .05. **p < .01.

Another interesting finding was that, unlike the common belief, the severity of childhood ADHD symptom did not show significant associations with most dimensions of adult ADHD symptoms. Only IE dimension demonstrated significant association with childhood ADHD symptom in regression analysis model 2 (see Table 3). However, this significant association of childhood ADHD symptom with IE disappeared after IA severity was included into regression model, indicating that IA severity had more significant association with IE than did childhood ADHD.

Current findings in this study may shed light on the relationship between severity and ADHD. Either two possibilities explaining high comorbidity between IA and ADHD, our results supported the hypothesis indicating the existence of distinct adulthood onset ADHDlike symptoms. Contrary to the conventional concept of adult ADHD regarding as continuation of childhood ADHD condition (Halperin, Trampush, Miller, Marks, & Newcorn, 2008; Lara et al., 2009), recent findings indicated that two distinct childhood onset and adulthood onset ADHD might exist and adult ADHD is not a simple continuation of childhood ADHD (Castellanos, 2015; Moffitt et al., 2015). In line with these findings, this study indicated that the current ADHD symptoms showed more significant associations with IA than the childhood ADHD symptom on WURS. Moreover, childhood ADHD symptom severity itself did not demonstrate significant correlations with core adult ADHD symptom except IE dimension in this study.

Previous studies indicated that the adult ADHD status is linked with the developmental trajectories of cortical components, and white matter alterations of several networks (Cortese et al., 2013; Karama & Evans, 2013; Shaw et al., 2013). Similarly, recent studies have demonstrated that IA might cause functional, structural changes, and abnormalities in brain (Hong et al., 2013a, 2013b; Kuss & Griffiths, 2012; Lin et al., 2012; Weng et al., 2013; Yuan et al., 2011; Zhou et al., 2011). Based on these findings, we might speculate that functional and structural brain abnormalities related to IA might also *be related* to adult ADHD-like cognitive symptoms, which should be differentiated from an independent ADHD disorder. The high comorbidity between IA and ADHD (Ho et al., 2014) might be accounted by cognitive and behavior symptoms related to IA rather than symptoms of an independent ADHD disorder.

This study had some limitations. First of all, use of self-rating scales to evaluate IA and other psychiatric conditions can be considered as a limitation. Second, all participants were young adult males with no psychiatric history who recruited from online advertisements. This kind of self-selected convenience sampling method might have biased the findings of the study. In addition, this restricted participant selection limits the extent of generalizability of the findings in the study, making it not possible to generalize to the females, different age groups, and patients who need clinical interventions. Especially, since the psychiatric symptoms of the participants who have no psychiatric history were evaluated, it is considered that there is a limit to apply the results of this study to clinical psychiatric patients. To generalize the present results, we need to study more representative sample of the population and actual psychiatric patients. Third, as this study was based on retrospective recall of childhood symptoms, participants' report of childhood symptoms could not be validated and we could not establish causal relationships among variables.

CONCLUSIONS

Inattention and hyperactivity symptoms in young adults with IA are more significantly associated with the severity of IA than that of childhood ADHD. This study may suggest better understanding on the possible mechanism of the high comorbidity between IA and ADHD in young adults.

Funding sources: This study was supported by a grant of the Korean Mental Health Technology R&D Project, Ministry of Health & Welfare, Republic of Korea (HM14C2578).

Authors' contribution: DK analyzed and interpreted data, and drafted the manuscript. DL and JL designed study and interpreted data. KN conducted statistical analysis. Y-CJ designed the study, interpreted data, obtained the funding, and provided supervision. All authors had full access to all data in the study and take responsibility for the integrity of the data and the accuracy of the data analysis. All authors critically reviewed and approved the final version of this manuscript for publication.

Conflict of interest: The authors declare no conflict of interest.

REFERENCES

- Babor, T. F., De La Fuente, J. R., Saunders, J., & Grant, M. (1992). *Guidelines for use in primary health care*. Geneva, Switzerland: World Health Organization.
- Beck, A. T., & Steer, R. A. (1990). Manual for the Beck Anxiety Inventory. San Antonio, TX: Psychological Corporation.
- Beck, A. T., Steer, R. A., & Brown, G. K. (1996). Beck Depression Inventory-II. San Antonio, TX: Psychological Corporation.
- Beck, A. T., Ward, C. H., Mendelson, M., Mock, J., & Erbaugh, J. (1961). An inventory for measuring depression. *Archives of General Psychiatry*, 4(6), 561–571. doi:10.1001/archpsyc.1961. 01710120031004
- Carli, V., Durkee, T., Wasserman, D., Hadlaczky, G., Despalins, R., Kramarz, E., Wasserman, C., Sarchiapone, M., Hoven, C. W., Brunner, R., & Kaess, M. (2013). The association between pathological Internet use and comorbid psychopathology: A systematic review. *Psychopathology*, 46(1), 1–13. doi:10.1159/000337971
- Castellanos, F. X. (2015). Is adult-onset ADHD a distinct entity? *The American Journal of Psychiatry*, 172(10), 929–931. doi:10.1176/appi.ajp.2015.15070988
- Chang, M. (2008). The Validation of Conners' Adult ADHD Scale – Korean (short version). *Korean Journal of Clinical Psychology*, 27(2), 499–513. doi:10.15842/kjcp.2008.27.2.009
- Conners, C. K., Erhardt, D., & Sparrow, E. (1999). Conner's Adult ADHD Rating Scales: Technical manual. New York, NY: Multi-Health Systems Incorporated (MHS).
- Cortese, S., Imperati, D., Zhou, J., Proal, E., Klein, R. G., Mannuzza, S., Ramos-Olazagasti, M. A., Milham, M. P., Kelly, C., & Castellanos, F. X. (2013). White matter alterations at 33-year follow-up in adults with childhood attention-deficit/ hyperactivity disorder. *Biological Psychiatry*, 74(8), 591–598. doi:10.1016/j.biopsych.2013.02.025
- Dalbudak, E., & Evren, C. (2014). The relationship of Internet addiction severity with attention deficit hyperactivity disorder symptoms in Turkish University students; impact of personality traits, depression and anxiety. *Comprehensive Psychiatry*, 55(3), 497–503. doi:10.1016/j.comppsych.2013.11.018
- Erhardt, D., Epstein, J., Conners, C., Parker, J., & Sitarenios, G. (1999). Self-ratings of ADHD symptomas in auts II: Reliability, validity, and diagnostic sensitivity. *Journal of Attention Disorders*, 3(3), 153–158. doi:10.1177/108705479900300304
- Fischer, A. G., Bau, C. H., Grevet, E. H., Salgado, C. A., Victor, M. M., Kalil, K. L., Sousa, N. O., Garcia, C. R., & Belmontede-Abreu, P. (2007). The role of comorbid major depressive disorder in the clinical presentation of adult ADHD. *Journal of Psychiatric Research*, 41(12), 991–996. doi:10.1016/j.jpsychires. 2006.09.008
- Fleming, M. F., Barry, K. L., & MacDonald, R. (1991). The Alcohol Use Disorders Identification Test (AUDIT) in a college sample. *The International Journal of the Addictions*, 26(11), 1173–1185. doi:10.3109/10826089109062153
- Gillberg, C., Gillberg, I. C., Rasmussen, P., Kadesjo, B., Soderstrom, H., Rastam, M., Johnson, M., Rothenberger, A., & Niklasson, L. (2004). Co-existing disorders in ADHD – Implications for diagnosis and intervention. *European Child &* Adolescent Psychiatry, 13(Suppl 1), i80–i92. doi:10.1007/ s00787-004-1008-4

- Halperin, J. M., Trampush, J. W., Miller, C. J., Marks, D. J., & Newcorn, J. H. (2008). Neuropsychological outcome in adolescents/young adults with childhood ADHD: Profiles of persisters, remitters and controls. *Journal of Child Psychology and Psychiatry, and Allied Disciplines, 49*(9), 958–966. doi:10.1111/j.1469-7610.2008.01926.x
- Hardie, E., & Tee, M. Y. (2007). Excessive Internet use: The role of personality, loneliness and social support networks in Internet addiction. *Australian Journal of Emerging Technolo*gies and Society, 5(1), 34–47.
- Heo, S., Oh, J., & Kim, J. (2012). The Korean version of the Barratt Impulsiveness Scale, 11th version: Its reliability and validity. *Korean Journal of Psychology: General*, 31, 769–782.
- Ho, R. C., Zhang, M. W., Tsang, T. Y., Toh, A. H., Pan, F., Lu, Y., Cheng, C., Yip, P. S., Lam, L. T., Lai, C. M., Watanabe, H., & Mak, K. K. (2014). The association between Internet addiction and psychiatric co-morbidity: A meta-analysis. *BMC Psychiatry*, 14, 183. doi:10.1186/1471-244X-14-183
- Hong, S. B., Kim, J. W., Choi, E. J., Kim, H. H., Suh, J. E., Kim, C. D., Klauser, P., Whittle, S., Yűcel, M., Pantelis, C., & Yi, S.-H. (2013a). Reduced orbitofrontal cortical thickness in male adolescents with Internet addiction. *Behavioral and Brain Functions: BBF, 9*, 11. doi:10.1186/1744-9081-9-11
- Hong, S. B., Zalesky, A., Cocchi, L., Fornito, A., Choi, E. J., Kim, H. H., Suh, J. E., Kim, C. D., Kim, J. W., & Yi, S. H. (2013b). Decreased functional brain connectivity in adolescents with Internet addiction. *PLoS One*, 8(2), e57831. doi:10.1371/ journal.pone.0057831
- Karama, S., & Evans, A. C. (2013). Neural correlates of attentiondeficit/hyperactivity disorder in adulthood. *Biological Psychiatry*, 74(8), 558–559. doi:10.1016/j.biopsych.2013.07.035
- Kessler, R. C., Adler, L., Barkley, R., Biederman, J., Conners, C. K., Demler, O., Faraone, S. V., Greenhill, L. L., Howes, M. J., Secnik, K., Spencer, T., Ustun, T. B., Walters, E. E., & Zaslavsky, A. M. (2006). The prevalence and correlates of adult ADHD in the United States: Results from the National Comorbidity Survey Replication. *The American Journal of Psychiatry*, 163(4), 716–723. doi:10.1176/ajp.2006.163.4.716
- Kim, E., Lee, S., & Oh, S. (2003). The validation of Korean Adolescent Internet Addiction Scale (K-AIAS). Korean Journal of Clinical Psychology, 22(1), 125–139.
- Kim, H., Lee, J., Cho, S., Lee, I.-S., & Kim, J.-H. (2005). A preliminary study on reliability and validity of the Conners Adult ADHD Rating Scales-Korean version in college students. *Korean Journal of Clinical Psychology*, 24(1), 171–185.
- Koo, Y., Choi, K., Bang, Y., Kim, O., Song, H., & Joo, E. (2009). Factor structure of Wender Utah Rating Scale (Korean) in normal female adults. *Journal Society of Korean Women Psychiatrists*, 7, 63–67.
- Kuss, D. J., & Griffiths, M. D. (2012). Internet and gaming addiction: A systematic literature review of neuroimaging studies. *Brain Sciences*, 2(3), 347–374. doi:10.3390/ brainsci2030347
- Kuss, D. J., Griffiths, M. D., & Pontes, H. M. (2017). Chaos and confusion in DSM-5 diagnosis of Internet gaming disorder: Issues, concerns, and recommendations for clarity in the field. *Journal of Behavioral Addictions*, 6, 103–109. doi:10.1556/ 2006.5.2016.062
- Lara, C., Fayyad, J., de Graaf, R., Kessler, R. C., Aguilar-Gaxiola, S., Angermeyer, M., Demytteneare, K., de Girolamo, G., Haro, J. M., Jin, R., Karam, E. G., Lépine, J. P., Mora, M. E., Ormel,

J., Posada-Villa, J., & Sampson, N. (2009). Childhood predictors of adult attention-deficit/hyperactivity disorder: Results from the World Health Organization World Mental Health Survey Initiative. *Biological Psychiatry*, *65*(1), 46–54. doi:10.1016/j.biopsych.2008.10.005

- Lee, B., Lee, C., Lee, P., Choi, M., & Namkoong, K. (2000). Development of Korean version of Alcohol Use Disorders Identification Test (AUDIT-K): Its reliability and validity. *Journal of the Korean Academy of Addiction Psychiatry*, 4(2), 83–92.
- Lee, Y., & Song, J. (1991). A study of the reliability and the validity of the BDI, SDS, and MMPI-D scales. *Korean Journal* of Clinical Psychology, 10(1), 98–113.
- Lin, F., Zhou, Y., Du, Y., Qin, L., Zhao, Z., Xu, J., & Lei, H. (2012). Abnormal white matter integrity in adolescents with Internet addiction disorder: A tract-based spatial statistics study. *PLoS One*, 7(1), e30253. doi:10.1371/journal.pone. 0030253
- Moffitt, T. E., Houts, R., Asherson, P., Belsky, D. W., Corcoran, D. L., Hammerle, M., Harrington, H., Hogan, S., Meier, M. H., Polanczyk, G. V., Poulton, R., Ramrakha, S., Sugden, K., Williams, B., Rohde, L. A., & Caspi, A. (2015). Is adult ADHD a childhood-onset neurodevelopmental disorder? Evidence from a four-decade longitudinal cohort study. *The American Journal* of Psychiatry, 172(10), 967–977. doi:10.1176/appi.ajp.2015. 14101266
- Mueser, K. T., Drake, R. E., & Wallach, M. A. (1998). Dual diagnosis: A review of etiological theories. *Addictive Beha*viors, 23(6), 717–734. doi:10.1016/S0306-4603(98)00073-2
- Ni, H. C., & Gau, S. S. (2015). Co-occurrence of attention-deficit hyperactivity disorder symptoms with other psychopathology in young adults: Parenting style as a moderator. *Comprehensive Psychiatry*, 57, 85–96. doi:10.1016/j.comppsych.2014. 11.002
- Patton, J. H., Stanford, M. S., & Barratt, E. S. (1995). Factor structure of the Barratt Impulsiveness Scale. *Journal of Clini*cal Psychology, 51(6), 768–774. doi:10.1002/1097-4679 (199511)51:6<768::AID-JCLP2270510607>3.0.CO;2-1
- Polanczyk, G., de Lima, M. S., Horta, B. L., Biederman, J., & Rohde, L. A. (2007). The worldwide prevalence of ADHD: A systematic review and metaregression analysis. *The American Journal of Psychiatry*, 164(6), 942–948. doi:10.1176/ ajp.2007.164.6.942
- Shaw, P., Malek, M., Watson, B., Greenstein, D., de Rossi, P., & Sharp, W. (2013). Trajectories of cerebral cortical development in childhood and adolescence and adult attention-deficit/hyperactivity disorder. *Biological Psychiatry*, 74(8), 599–606. doi:10.1016/j.biopsych.2013.04.007
- Sobanski, E. (2006). Psychiatric comorbidity in adults with attention-deficit/hyperactivity disorder (ADHD). European Archives of Psychiatry and Clinical Neuroscience, 256(Suppl 1), i26–i31. doi:10.1007/s00406-006-1004-4
- Sobanski, E., Bruggemann, D., Alm, B., Kern, S., Deschner, M., Schubert, T., Philipsen, A., & Rietschel, M. (2007). Psychiatric comorbidity and functional impairment in a clinically referred sample of adults with attention-deficit/hyperactivity disorder (ADHD). *European Archives of Psychiatry and Clinical Neuroscience*, 257(7), 371–377. doi:10.1007/s00406-007-0712-8
- Ward, M. F., Wender, P. H., & Reimherr, F. W. (1993). The Wender Utah Rating Scale: An aid in the retrospective diagnosis of childhood attention deficit hyperactivity disorder.

The American Journal of Psychiatry, 150(6), 885–890. doi:10.1176/ajp.150.6.885

- Weng, C. B., Qian, R. B., Fu, X. M., Lin, B., Han, X. P., Niu, C. S., & Wang, Y.-H. (2013). Gray matter and white matter abnormalities in online game addiction. *European Journal of Radiology*, 82(8), 1308–1312. doi:10.1016/j.ejrad.2013.01.031
- Yen, J. Y., Liu, T. L., Wang, P. W., Chen, C. S., Yen, C. F., & Ko, C. H. (2017). Association between Internet gaming disorder and adult attention deficit and hyperactivity disorder and their correlates: Impulsivity and hostility. *Addictive Behaviors*, 64, 308–313. doi:10.1016/j.addbeh.2016.04.024
- Yen, J. Y., Yen, C. F., Chen, C. S., Tang, T. C., & Ko, C. H. (2009). The association between adult ADHD symptoms and Internet addiction among college students: The gender difference. *CyberPsychology & Behavior*, 12(2), 187–191. doi:10.1089/cpb.2008.0113
- Yen, J.-Y., Ko, C.-H., Yen, C.-F., Wu, H.-Y., & Yang, M.-J. (2007). The comorbid psychiatric symptoms of Internet addiction: Attention deficit and hyperactivity disorder (ADHD), depression, social phobia, and hostility. *Journal* of Adolescent Health, 41(1), 93–98. doi:10.1016/j. jadohealth.2007.02.002
- Yoo, H. J., Cho, S. C., Ha, J., Yune, S. K., Kim, S. J., Hwang, J., Chung, A., Sung, Y. H., & Lyoo, I. K. (2004). Attention deficit hyperactivity symptoms and Internet addiction. *Psychiatry and*

Clinical Neurosciences, *58*(5), 487–494. doi:10.1111/j.1440-1819.2004.01290.x

- Yook, S., & Kim, Z. (1997). A clinical study on the Korean version of Beck Anxiety Inventory: Comparative study of patient and nonpatient. *Korean Journal of Clinical Psychology*, 16(1), 185–197.
- Young, K. S. (1998a). *Caught in the net*. New York, NY: John Wiley & Sons.
- Young, K. S. (1998b). Internet addiction: The emergence of a new clinical disorder. *CyberPsychology & Behavior*, 1(3), 237– 244.10.1089/cpb.1998.1.237
- Young, K. S. (1999). The research and controversy surrounding Internet addiction. *CyberPsychology & Behavior*, 2(5), 381– 383. doi:10.1089/cpb.1999.2.381
- Young, K. S., & Rogers, R. C. (1998). The relationship between depression and Internet addiction. *CyberPsychology & Behavior*, 1(1), 25–28. doi:10.1089/cpb.1998.1.25
- Yuan, K., Qin, W., Wang, G., Zeng, F., Zhao, L., Yang, X., Liu, P., Liu, J., Sun, J., von Deneen, K. M., Gong, Q., Liu, Y., & Tian, J. (2011). Microstructure abnormalities in adolescents with Internet addiction disorder. *PLoS One, 6*(6), e20708. doi:10.1371/journal.pone.0020708
- Zhou, Y., Lin, F. C., Du, Y. S., Qin, L. D., Zhao, Z. M., Xu, J. R., & Leib, H. (2011). Gray matter abnormalities in Internet addiction: A voxel-based morphometry study. *European Journal of Radiology*, 79(1), 92–95. doi:10.1016/j.ejrad.2009.10.025